Kansas Corporation Commission ORIGINAL OIL & Gas Conservation Division

Form ACO-1 September 1999 Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 32825	API No. 15 - 077-21662-00-00
Name: Pioneer Exploration, LLC	County: Harper
Address: 15603 Kuykendahl Suite 200	N2 -NE - SE - NE Sec. 32 Twp. 31 S. R. 9 East V West
City/State/Zip: Houston, Texas 77090	1420 feet from S / N (circle one) Line of Section
Purchaser: Pioneer / NCRA	330 feet from E7 W (circle one) Line of Section
Operator Contact Person: Ramy H Farrag	Footages Calculated from Nearest Outside Section Corner:
Phone: (_281)	(circle one) (NE) SE NW SW
Contractor: Name: Val Energy, INC.	Lease Name: Dirks Well #: 3
License: 5822	Field Name: Spivey-Grabs-Basil
Wellsite Geologist: Patrick J Deenihan	Producing Formation: Mississippi
Designate Type of Completion:	Elevation: Ground: 1598 Kelly Bushing: 1608
New Well Re-Entry Workover	Total Depth: 4601 Plug Back Total Depth: 4540
✓ OilSWDSIOWTemp. Abd.	Amount of Surface Pipe Set and Cemented at 222 Feet
✓ Gas ENHR SIGW	Multiple Stage Cementing Collar Used? Yes V No
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth tow/sx cmt.
Well Name:	
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	,
Plug Back Plug Back Total Depth	Chloride content ppm Fluid volume bbls
Commingled Docket No.	Dewatering method used
Dual Completion Docket No.	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name:
Other (GWD of Liffi.!)	Lease Name: License No.:
11/21/2009 11/26/2009 12/5/2009 Spud Date or Date Reached TD Completion Date or	QuarterSecTwpS. REast West
Recompletion Date Recompletion Date Recompletion Date	County: Docket No.:
Kansas 67202, within 120 days of the spud date, recompletion, works Information of side two of this form will be held confidential for a period of	ith the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, over or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. If 12 months if requested in writing and submitted with the form (see rule 82-3-gs and geologist well report shall be attached with this form. ALL CEMENTING
THORETO MOOT DE 71 THORED. Gublin of 4 form with all plugged we	ic. Gashik Gr. 111 John Will all temperatny acandones were
All requirements of the statutes, rules and regulations promulgated to regulate are complete and correct to the best of my knowledge.	ulate the oil and gas industry have been fully complied with and the statements
Signature:	KCC Office Use ONLY
Title: Engineer Date: 05/10/2010	Letter of Confidentiality Received
	RAMESH PERSAUD If Denied, Yes Date:
	COMMISSION EXPIRES September 10, 2012 Wireline Log Received
20_10	, , , , , , , , , , , , , , , , , , ,
Notary Public: Kameal Peraud	UIC Distribution
l it.	MAY 1 4
Date Commission Expires: 15 25 (2	

Operator Name: Pio	neer Exploration, LL	C	Lease Nan	ne:		Well #: _3	
Sec Twp	³¹ S. R. ⁹	☐ East ☑ West	County: Ha	arper			
tested, time tool ope temperature, fluid re	en and closed, flowing covery, and flow rate	and base of formations p g and shut-in pressures, s if gas to surface test, inal geological well site	whether shut-ir along with final o	n pressure reached	d static level, hydr	ostatic pressu	res, bottom hole
Drill Stem Tests Take (Attach Additional		☐ Yes ✓ No	[√ Log Forma	tion (Top), Depth	and Datum	Sample
Samples Sent to Ge	ological Survey	Yes 🗸 No		Name leebner		Тор 3514	Datum -1906
Cores Taken		Yes V No		ansing		3685	-2077
Electric Log Run		✓ Yes		tark Shale		4130	-2522
(Submit Copy)			С	herokee Shale		4363	-2755
List All E. Logs Run:				lississippian		4403	-2795
CNL/CDL ME	· · · · · · · · · · · · · · · · · · ·		1	New Used		and a state of the seather	
D (0)	Size Hole	Report all strings set- Size Casing	conductor, surface Weight	, intermediate, produ Setting	ction, etc.	# Sacks	Type and Percent
Purpose of String	Drilled	Set (In O.D.)	Lbs. / Ft.	Depth	Cement	Used	Additives
Surface	12-1/4"	8-5/8"	23	222	60/40 poz	175	3% cc w/ 1/4# Cellfalke
Production	7-7/8"	4-1/2"	10.5	4590	AA2	195	5% salt, 2% gel, 5% gilsonite; 1/4% flo-se
		ADDITIONAL	CEMENTING /	SQUEEZE RECOR	D		
Purpose: —— Perforate —— Protect Casing —— Plug Back TD —— Plug Off Zone	Depth Top Bottom	Type of Cement	#Sacks Used	#Sacks Used Type and Percent Additives			
Shots Per Foot		ON RECORD - Bridge Plu		Acid, Fra	acture, Shot, Cemen	t Squeeze Reco	rd
4	Specify F 4404-06	Footage of Each Interval Pe	rforated	750 Gals 159	Amount and Kind of M	aterial Used)	Depth 4404-4414
4	4411-14				000 lbs Sand 340) bbls of Fluid	4404-4414
TUBING RECORD 2-3	Size 3/8"	Set At 4428	Packer At	Liner Run	Yes 🗸 No		•
	d Production, SWD or E		hod √ Flo	owing Pump			er (Explain)
Estimated Production Per 24 Hours	0	Bbls. Gas	1	Water ,	3bls. (Gas-Oil Ratio	Gravity
-	3	100	2		3	3,333	25
Disposition of Gas .	METHOD OF C			Production Inte			
	Used on Lease ubmit ACO-18.)	☐ Open Hole ☐ Other <i>(Spec</i>	✓ Perf. [ifv)	Dually Comp.	Commingled _		

PIONEER EXPLORATION, LLC

May 11, 2010

Kansas Corporation Commission Oil & Gas Conservation Division 130 S. Market-Room 2078 Wichita, Kansas 67202

RE: Dirks #2-Completion report Sec. 32 TWP. 31S R.9W Spivey-Grabs-Basil Field Harper, Kansas

Dear Sir or Madam:

Enclosed please find the following drilling completion information on Dirks #2 well located Sec.32 TWP 31 S R9W- Harper County-Kansas

- 1. Well completion form ACO-1 (Original +2 copies).
- 2. 2 Tickets of surface casing and production cementing.
- 3. 1 copy of Geologist report.
- 4. 1 copy of Dual Induction Log.
- 5. 1 copy of Dual Compensated Porosity Log.
- 6. 1 copy of Micro resistivity log.
- 7. 1 copy of Sonic Cement Bond Log.

If additional information required please advice

Sincerely,

Ramy H. Farrag Production Coordinator

Cc: Well Files

Regulatory Files

RECEIVED
MAY 1 4 2010

KCC WICHITA

CUST NO INVOICE DATE 1 of 2 1003241 12/01/2009 INVOICE NUMBER 1718 - 90188475

HERE'S ESTAILE

Pratt

(620) 672-1201

B PIONEER EXPLORATION LTD

I PO Box: 38

L SPIVEY

- ₹

KS US 67142

o ATTN:

LEASE NAME

Dirks

LOCATION

COUNTY

Harper

STATE

KS

JOB DESCRIPTION Cement-New Well Casing/Pi

#3

JOB CONTACT

JOB #	EQUIPMENT #	PURCHASE	ORDER NO.		TERMS	DUE DATE		
40123687	27463				Net - 30 days	12/31/2009		
			QTY	U of	UNIT PRICE	INVOICE AMOUNT		
For Service Dates	: 11/27/2009 to 1	1/27/2009		"				
0040123687								
171800262A Cem	ent-New Well Casing/Pi	11/27/2009						
•								
Cement AA2 Cement			195.00	EA	7.82	1,524.90		
Cement			25.00]				
60/40 POZ			25.00	EA	5.52	138.00		
Additives			49.00	EA	1 70	00.40		
Cello-flake			49.00	1 54	1.70	83.40		
Additives			1,099.00	EA	0.23	252.77		
Salt(Fine)			.,		0.29	252.77		
Additives			92.00	EA	2.76	253.92		
Cement Friction Rec	lucer							
Additives			138.00	EA	2.37	326.92		
Gas-Blok				ľ	Ì			
Additives			4.00	EA	16.10	64.40		
CS-1L, KCL Substituted Additives	ute							
Mud Flush			500.00	EA	0.40	197.80		
Cement Float Equipr	nent		1.00	EA	22.22			
Top Rubber Cement			1.00	EA	36.80	36.80		
Cement Float Equipm			1.00	EA	103.50	102 5		
Guide Shoe-Regular,			1.00	~	103.50	103.50		
Cement Float Equipm			1.00	EA	92.00	92.00		
Flapper Type Insert f	Float Valve, 4 1/2"			- 1	32.00	52.00		
Cement Float Equipn			6.00	EA	39.10	234.60		
Turbolizer, 4 1/2"(BI	ue)	1		1				
Mileage			100.00	MI	3.22	322.00		
Heavy Equipment Mi	leage		}					
Mileage			515.00	MI	0.74	379.04		
Proppant and Bulk De	elivery Charge							
Mileage Blending & Mixing Se	anico Charas		220.00	МІ	0.64	141.68		
Pickup	ervice Charge							
i ichup			50.00	HR	1.96	97.75		
			İ		İ	RECEIVED		

MAY 1 & 2010 KCC WICHITA

PAGE CUST NO INVOICE DATE 2 of 2 1003241 12/01/2009 INVOICE NUMBER 1718 - 90188475

Ender Constitution of the

(620) 672-1201

B PIONEER EXPLORATION LTD

I PO Box: 38

_ SPIVEY

KS US 67142

o ATTN:

LEASE NAME

Dirks #3

LOCATION

COUNTY

Harper

STATE

KS

JOB DESCRIPTION

Cement-New Well Casing/Pi

JOB CONTACT

JOB #	EQUIPMENT #	PURCHASI	ORDER NO.		TERMS	DUE DATE
40123687	27463				Net - 30 days	12/31/2009
			QTY	U of M	UNIT PRICE	INVOICE AMOUNT
Pump Charge-Hour			1.00		1,159.2	0 1,159.2
Depth Charge; 400 Cementing Head w	/Manifold		1.00	EA	115.0	0 115.0
Plug Container Util Supervisor Service Supervisor			1.00	HR	80.5	80.5
			·			
	,					
					RECEIV	EV
					RECEIV MAY 1 4 7 KCC WICH	FL) ₽∩1n
		·			KCC WICH	ITA
)
		ı.				

PLEASE REMIT TO:

SEND OTHER CORRESPONDENCE TO:

BASIC ENERGY SERVICES, LP
PO BOX 841903 PO BOX 10460
DALLAS, TX 75284-1903 MIDLAND, TX 79702

SUB TOTAL

5,604.18 150.63

TAX INVOICE TOTAL

5,754.81

ENERGY SERVICES

1700 S. Country Estates Rd. P.O. Box 129 Liberal, Kansas 67905 Phone 620-624-2277

FIELD SERVICE TICKET 1717 00262 A

PRESSURE PUMPING & WIRELINE

1718	3	
DATE T	ICKET NO.	
PROD [INJ	□ WDW	CUSTOMER ORDER NO.:
6#3		WELL NO.
mer	STATE	KS
Youan 5	$\mathcal{I}_{}$	
1-4/2/1	ourst	
TRUCK CALLED	JIF	2204 1000
ARRIVED AT JO	ОВ	240

CATE OF JOB OLD C DISTRICT CUSTOMER LEASE **ADDRESS** COUNTY CITY STATE SERVICE CREW **AUTHORIZED BY** JOB TYPE: **EQUIPMENT#** HRS HRS EQUIPMENT# HRS **EQUIPMENT#** START OPERATION **28** FINISH OPERATION RELEASED AM MILES FROM STATION TO WELL CONTRACT CONDITIONS: (This contract must be signed before the job is commenced or merchandise is delivered). The undersigned is authorized to execute this contract as an agent of the customer. As such, the undersigned agrees and acknowledges that this contract for services, materials, products, and/or supplies includes all of and only those terms and conditions appearing on the front and back of this document. No additional or substitute terms and/or conditions shall become a part of this contract without the written consent of an officer of Basic Energy Services LP. SIGNED: 1-4-46-1-160- Kuman (WELL OWNER, OPERATOR, CONTRACTOR OR AGENT) ITEM/PRICE REF. NO. QUANTITY MATERIAL, EQUIPMENT AND SERVICES USED UNIT **UNIT PRICE \$ AMOUNT** 3 15 181 <u>30</u> 50 70 80 200 510 50 24 SUB TOTAL CHEMICAL / ACID DATA: SERVICE & EQUIPMENT %TAX ON \$ MATERIALS %TAX ON \$ MAY TANGET TOTAL SERVICE THE ABOVE MATERIAL AND SERVICE ORDERED BY CUSTOMER AND RECEIVED BY:

(WELL OWNER OPERATOR CONTRACTOR OR AGENT)

FIELD SERVICE ORDER NO.



TREATMENT REPORT

Customer	preer 7	Explo	right	ω Λ	Le	ease No.	-			· · · · · · · · · · · · · · · · · · ·		Date					
Lease	rks	The	- ect to	· ·	W	Well # 3						1	11-27-09				
Field Order	\$2 Station	"l'ih	evel	KS-	- 17	177		Casing	12 "	10 8° #	T4590	County	Ho	1500	`	s	State CS
Type Job	242- 4	3	,	W106S	hir	15	ĈN	Wil		Formation				legal D	escription	32	-31-9
PIP	PE DATA		PERF	OHAT	ING	DATA		FLUID	US	ED		-		TMENT			
Caşing Sile	O Stationg Si	ze S	Shots/Ft		•	-;	ASIR	sks	A	42-10	K SI+	RATE	P	es 30	SISIP	- hl	ok, Yt GOLC
Depth 70	4 Denth		rom		То		Pre		ч¢	Bsk,	Max 73	ad /	r	- 1 - 1	5 Min.	2.00	DISTANTA
Volume	Volume	F	rom		То		25			040	107 -	149	o to	he se	010 Min.		
Max Press	Max Pres	s F	rom		То		Frac				Avg			U	15 Min.		
	tion Annulus \	/ol. F	rom		То						HHP Use	d			Annulu	s Pres	ssure
Plue BUY	-/ Packer D	epth F	rom		То		Flus	_tres	sh	water	Gas Volu	me			Total Lo	oad	
Customer Re	presentative	BO.	b	/		Station	Mana	ger D.		Scott	_	Trea	ter /	1. 0	lyer	<u> </u>	
Service Units	28437	270	463	198.	3L	1986	21						•				
Driver Names	A.Olyra		PLAN		E 7				\bot		<u> </u>		•				
Time	Casing Pressure		oing sure	Bbis	. Pum	ped	F	Rate					Servi	ce Log			
14,00									\mathcal{L}	un loc	1-314	<u>' as</u>	Ses	ment		ابهامع	<u>collars d</u> n
14:09									5	pot =	trucks	-cìg	U	<u> </u>		0 (J .
N'30	700								4	3C o	m pl	m =	Da	eak (irc		ha
19:30		-							18	Heal	4 mag	ting.		13			
19:30									_5	migcy	x onex	to 7	Cont	الما	<u> </u>		
19-31	200				\			_	P	ressur	re tes	T -	200	٠.	•		
19:33	300				<u>10</u> 3			5	-5	toct	brimt	11/2	<u>K</u> (poce	<u>~</u>	
10:27	300	ļ			<u>>_</u>			<u> 5</u>	- 1 `	120	" 20 0	cer	<u> </u>				
19:39	300 300	_		—}	<u>م</u> ۲		-4	25	17	ua-	FILSV	14.0		,,			
19:40		<u> </u>		<u> </u>	>		4.	25	7	120	<u> </u>	<u> </u>		0	<u>۲</u> ۰۸ -		<u>:</u>
19:41	300				50				T	tact	- Wixy C W	 	M	@	S.06	Po	
9:50					<u> </u>				世	mb	TIMIN NO	.,	it.d	<i>A</i> 0	ا مرا	1.10	cla lace
19:53					<u></u>		(0	7	157 H	7 4 C)	"t"	· ·	wg. I		CAN MAY
20:05					20			2		10	m	40	21	oρn,	Int	10	bbk Ndx
20'ın	1300				70			0	17,	אוני	Olua.	Clm		rold	1421	11A	aus y a v
									6	st.	100 0	^	1	21	00		
20:20	0				8			3	M	x 2	5525	olu	<u>c</u>	wt r	Mais	5 2.	hole EIVEE
									I.	ób	Сомр		0		7	REC	Elver
									$\overline{\Lambda}$						MA	Y g	
·															MA		4 2010
															vcC	WIC	CHIF
% 7/ 0(0)	S. Count	77V =	state	9 • P	I O T	Box 1	<u> </u>	Libera	al K	5 6790	15 • (62)	11 624	-227	70 Fay	7 (62A)	62/	1-2280章

PAGE	CUST NO	INVOICE DATE
1 of 1	1003241	11/29/2009
	INVOICE NU	MBER
	1718 - 90184 ⁻	798

(620) 672-1201

B PIONEER EXPLORATION LTD

I PO Box: 38

L SPIVEY

KS US 67142

o ATTN:

LEASE NAME

Dirks 3

LOCATION

COUNTY

Harper

KS

STATE

JOB DESCRIPTION Cement-New Well Casing/Pi

JOB CONTACT

JOB #	EQUIPMENT #	PURCHASE	TERMS	DUE DATE		
40122783	27463	•			Net - 30 days	12/29/2009
	<u> </u>	3	QTY	U of M	UNIT PRICE	INVOICE AMOUNT
For Service Dates	s: 11/22/2009 to 1	1/22/2009				
0040122783						!
171801056A Cen	nent-New Well Casing/Pi	11/22/2009				
Cement		:	175.00	EA	5.04	882.00 ⁻
60/40 POZ Additives			41.00	EA	1.55	63.71 ⁻
Cello-flake Calcium Chloride		-	453.00	EA	0.44	
Cement Float Equi Wooden Cement F			1.00	EA	67.20	67.20
Mileage Heavy Equipment			100.00	МІ	2.94	294.00
Mileage Proppant and Bulk			378.00	MI	0.67	254.02
Mileage			175.00	МІ	0.59	102.90
Blending & Mixing Pickup			50.00	HR	1.79	89.25
Pump Charge-Hou	•		1.00	HR	420.00	420.00
Depth Charge; 0-5 Cementing Head v			1.00	EA	105.00	105.00
Plug Container Uti Supervisor	lization Charge	2	1.00	ня	73.50	73.50
Service Superviso	r					
						RECEIVED
					M	4Y 9 4 2010
					KCC	· <u10< td=""></u10<>
					J	RECEIVED AY 9 4 2010 WICHITA
				:		
DI.EASE REMIT	TO. SE	ND OTHER CORRES	PONDENCE TO			DLS

PLEASE REMIT TO:

SEND OTHER CORRESPONDENCE TO:

PO BOX 841903

DALLAS, TX 75284-1903

BASIC ENERGY SERVICES, LP BASIC ENERGY SERVICES, LP PO BOX 10460 MIDLAND, TX 79702

SUB TOTAL

TAX INVOICE TOTAL 2,551.35 60.71

2,612.06

10244 NE Hwy. 61 P.O. Box 8613 Pratt, Kansas 67124 Phone 620-672-1201

FIELD SERVICE TICKET 1056 A 1718

PRESSI	JRE PUM	PING & WIRELINE	32-31	5-0	IW .		DATE	TICKET NO		
DATE OF 11-22-	29 1	DISTRICT Prat	t. Tanso	15	WELL D	WELL .	PROD []INJ	∏ WDW	CUS	STOMER DER NO.:
CUSTOMER Pion	ee r	Exploration	WELL WELL							
ADDRESS			COUNTY	Harp	er	STATE	Kar	1505		
CITY		SERVICE CREW C. Messich: T. Lesley: M. Nall								
AUTHORIZED BY					JOB TYPEC. N. W Surface					
EQUIPMENT#	HRS	EQUIPMENT	HRS	EQL	JIPMENT#	HRS	TRUCK CALL	ED (- 23TE	TIME
19,870	.5						ARRIVED AT			°3:30
27.463	. 5						START OPER	ATION	7	FM 4:50
- A 1, 10 J	1.5					-	FINISH OPER	ATION	J	S:15
19.832-21.010	.5						RELEASED	11-	32:09	\$\$P 6:00
7	<u> </u>						MILES FROM	STATION TO	WELL	50

CONTRACT CONDITIONS: (This contract must be signed before the job is commenced or merchandise is delivered). The undersigned is authorized to execute this contract as an agent of the customer. As such, the undersigned agrees and acknowledges that this contract for services, materials, products, and/or supplies includes all of and only those terms and conditions appearing on the front and back of this document. No additional or substitute terms and/or conditions shall become a part of this contract without the written consent of an officer of Basic Energy Services LP. SIGNED: (WELL OWNER, OPERATOR, CONTRACTOR OR AGENT) ITEM/PRICE REF. NO MATERIAL, EQUIPMENT AND SERVICES USED UNIT QUANTITY **UNIT PRICE** \$ AMOUNT 60140 Poz Cement 75<u>sh</u> CP103 2.100 00 CC 102 5 70 Calcium Chloride \$ CC 109 Wooden Plug, 85/8" 153 160 ea 20 Heavy Equipment Mileage Bulk Delivery 100mi 700 00 378tm 604 80 Pictup Mileage Somi Blending and Mixing Service Service Supervisor 75sh 245.00

CE 200 Cement Pump: Ofeet To 9001	reet	leg	+	1.000	00
CE 504 Pluy Container		leq	\$	250	00
CHEMICAL / ACID DATA:		SU	B TOTAL	2.551	3.
	SERVICE & EQUIPMENT	%TAX ON \$		DL.	<u></u>
	MATERIALS	%TAX ON \$			Т
			TOTAL		Т

SERVICE	₹ 5 684
SERVICE A PRESENTATIVE PLACE	K. III essel

THE ABOVE MATERIAL AND SERVICE ORDERED BY CUSTOMER AND RECEIVED BY (WELL OWNER OPERATOR CONTRACTOR OR AGENT)



TREATMENT REPORT

Coletomer 1016	er Ex	plorati	on, Inc.	ase No. SY DOI	ated				Date /	1		
Lease Di	rits		, w	ell #' 3						1-0	62	\bigcup
Field Order #	Station	Pratt	Tansa	5	S	SIP/S	23 Depth		County	arver	al-	ate A NSQS
Type Job C	. N. W	Surfa	, ace	1			Formation			Legal De	95-9	W
	E DATA	PERF	ORATING	DATA	ent Pa		JSED		TRE	ATMENT	RESUME	
Gastra Size	3 Julying Si				ARM	75	sactes	0/40	想即	essh	ISIP	
Depth 2	Depth	From	то 2	3G	POR POR	38 <i>C</i>	alcium	Manual 1	ride.	25Lb/	5 M. Cell	flake
Yolyma B	Volume	From	То	4.71	6.1G	al.,	5.71G	M1.15h	l. á!	ocv.F		
	Max Pres		То					Avg			15 Min.	·
1 Va Co	on Annulus V	ol. F From	То			•		HHP Used			Annulus Press	ure
		From	То			<u> 3.5</u>	Bbl. Fi	Es Yolyn			Total Load	·····
Customer Re	presentative	David	son	Station	Manager	Day	vid So	ott	Cedter C	ence l	?.Messi	ch
Service Units	19,870	27,463	19,832	21,01	01							
Driver Names Me	SSIGH	Lesley	Ma	11						<u> </u>		
Time A	Casing Pressure	Pressure	Bbls. Pump		Rate					vice Log		
3:30	11 1 5	(1)					and he		ety Me	<u>eting.</u>		
3:30	Val Dr	illings	tart to	o run	5 Jo	int			Ft. 8	918" ca.	sing.	
4:40							<i>~</i>				for 5 min	
4:50	300		1 6		5		Start				e-Flush	
			49			5					<u>rs60/40f</u>	
	-0-		77				,			inwe	I. Pelea	se Woode
5:10	170						7,00		Well.	, D,	1	<u>+</u>
5:15	175		3.9	- +	\	_	Start				placeme	ni.
0.13	250		3.0.0) 			,	own. S			ttothep	14
				\dashv			Circul				TTOTICIO	11:
6:00	-					-	Tab	h up pu Comple	m <u>ull</u> ote			
<u> </u>					·			1tr You				· · · · · · · · · · · · · · · · · · ·
							Class	ence, ITE	الألام	m: ha		
							~ (3)	11	, ,	- C + L - L - L - L - L - L - L - L - L - L		
		·										
									RF	<u> </u>		
									MAN	CIVEL)	
										1 4 2010)	
								Ь	CC W	CEIVED 1 4 2010 ICHITA		
										'UMITA		
1024	4 NE Hiv	/ay 61. • F	O. Box	3613 •	Pratt,	KS 6	7124-861	3 • (620)	672-12	01. Fax	(620) 672	-538 3 %